from tkinter import*

def zbroj():
h=a.get()
i=b.get()
z=float(h)+float(i)
g=Label(t,text=str(z),font=("'Arial’',14, 'bold"))
g.place(x=150,y=150,width=100,height=30)

def razlika():
r=float(a.get())-float(b.get())
g=Label(t,text=str(r),font=("Arial’',14, 'bold"))
g.place(x=150,y=200,width=100,height=30)

def umnozak():
g=Label(t,text=str(float(a.get())*float(b.get())),font=("Arial’,14, 'bold"))
g.place(x=150,y=250,width=100, height=30)

def kolicnik():
g=Label(t,text=str(float(a.get())/float(b.get())),font=("Arial’,14, 'bold"))
g.place(x=150,y=300,width=100,height=30)

t=Tk()

t.config(width=400,height=400)
g=Label(t,text="Kalkulator',font=("'Arial’',14, 'bold"))
g.place(x=150,y=20)

a=Entry(t)

a.place(x=60,y=100,width=100,height=30)

b=Entry(t)

b.place(x=210,y=100,width=100,height=30)
c=Button(t,text="+"',font=("'Arial’', 14, 'bold"'),bg="white', command=zbroj)
c.place(x=60,y=150,width=30,height=30)
d=Button(t,text='-"',font=("'Arial’', 14, 'bold'),bg="white', command=razlika)
d.place(x=60,y=200,width=30,height=30)
e=Button(t,text="*"',font=("'Arial’', 14, 'bold"'),bg="white', command=umnozak)
e.place(x=60,y=250,width=30,height=30)
f=Button(t,text="/",font=("Arial’',14, 'bold'),bg="white"',command=kolicnik)
f.place(x=60,y=300,width=30,height=30)

t.mainloop()



